nanosecond

03/05/19 wtzsigrt58512 30.ppp_defaut+10d-15
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Mdev

Tdev /s

635589 s: Mdev= 0.16326E-13 Tdev= 5991 ps
317794 s: Mdev= 0.98364E-14 Tdev= 1805 ps
158897 s: Mdev= 0.10757E-13 Tdev= 987 ps
79449 s: Mdev= 0.15209E-13 Tdev= 698 ps
39724 s: Mdev= 0.19696E-13 Tdev= 452 ps
19862 s: Mdev= 0.31889E-13 Tdev= 366 ps
9931 s: Mdev= 0.45897E-13 Tdev= 263 ps
4966 s: Mdev= 0.63735E-13 Tdev= 183 ps
2483 s: Mdev= 0.94592E-13 Tdev= 136 ps
1241 s: Mdev= 0.13688E-12 Tdev= 98 ps

621 s: Mdev= 0.20986E-12 Tdev= 75 ps

310 s: Mdev= 0.37727E-12 'Il'dev: 68 pls
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